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[Time : 2% Hours]

N.B: 1. All questions are compulsory

3 Working notes should form the part o{&nuzchnﬁqerv £
4. Calculate figures upto two decimal gd;ms%hereve

1. a)  Select the most appropriate option and rewn;itdbé”jﬂi{&émeqcﬂ&ﬁv{igm:fﬂ_
1)  Normal penalties of contract are d@ged\rg’* S YRS :

T ad Tl
* CostingP & LA/c Z Q*;:\x'_?{gm,’;c €
e t.:‘"_;'.'} vl e S
* Contractee’s A/c ST PS4 Lontrag
i = o‘;.,""’"'."n,\
2) ____ makesthe cost {g:dggg{Lf_s:g{{\lﬂ'_z;‘\__ar1§:arjgQ X

* Overhead controla ount - 1 ce. Cbsttng\P&L%[c :’

* Cost Ledger Caq_tfg}%@? ;;?Q;_\.,.v_ % Q{one_ﬁ'f fhese,‘; 5
actu; gga nti nd‘stanﬁgrd“quan@,amﬁgphed
“‘.q‘«*“o:*,;a x :'*: Ve
L \-f:%*}a S ““‘"'»?""'*"

_ {;o_;t Ledger
~None of these

Credited to Profit & Loss
Account

edited to Process

count
sales is 70%, contribution is

.

2,40,000
° 300000

* more cost pools

* enhanced control over
S ¢ overhead costs
P Dssjétt:i;;:vut Is 25000 units, Normal loss 3000 units, abnormal loss is 2000
_,_utﬁtsz J’ﬁg‘input is units.
2 *‘a’,. 20,000 e 15,000
j’“ 30,000 e None of the above
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e Order quantity
e Order value

b)  State whether the following statements are Trﬁq,Q[Eals\é‘(
1.  Process costing is the technique of gostr y

oy

2.  Stores ledger contains wages pald. : S
3. Indirect labour is debited to wqfkn‘f'n pr g 85 aynt.
4.  P/V Ratio is improved by deqve_q“sm“g\ﬁﬁcif’c SRS ‘::;%f "
5. Material returned to sturqs—ift:f d:te‘a fo\ﬁ_hiﬁ.f}ra_ _t 3 e
6.  In process, mwsnbfe wasfhchas n EEallzabﬂ\ ‘:JEre

¥

8

9.

VA EaT s

10. mcurs g‘To:s Whmmﬁfnbu |en is equaH

2. VNK Pvt.

Process K

PrO\CESS méterials (?‘ 71,490 88,346
p.rgctivgge?.ﬁ) 72,000 56,000
\_‘_erqdu;-cgipg;ﬁger_hﬂesq N e 36,000 33,600
Normal (085 = 070 v %) T 1 | 1% 1%

| Scrapvalie perd0 unit () - s 30 50 \
» Actual qmé‘ut“qunnﬁzt,Qe yea}' Ry 93 000 units | 92,200 units | 91,500 units

s —Prepa(e the"three p?oces? acqounts and normal loss account.
CR
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,/
M/s. Gokul Enterprises Ltd. provides
March, 2017 about Process N, P and R,
Particulars
Basic Raw Materials introduced (units)
Cost of Basic Raw Materials per unit (¥)
Direct labour (¥)
Direct expenses (¥) < 00 11,900
Manufacturing Expenses (T) S ‘5“,8131:1 - 1,82,600|
Normal Loss (% on total No. of units Input)] - - .~ 8% ~12% S
Scrap value per unit (Z) SRR e S
Actual output (units) oA
& Output transferred to next pmr.e}s Y
Output sold at end of the B85S o
Output trans
Selling price of
process (per unit
Prepare three Proces
“.-_:w“‘a‘. &5 :
3. Mohan :nfrastmmti}‘; Ltd, cofprenc, 15
price was forx*{‘iﬁb,\_aﬁﬁf nd @ | '
actual expeqditgr‘_;é upt_g‘%ﬁh‘ﬁa‘(; , 2017
December -zﬂfz?»a;é éx\gwén& oW
y ! - f C} J\‘ ,__\ , ) A
Estimated Expenditure
upto from 01-04-2017 to
31-12-2017 (%)
4,0 0 5,50,000
4,20,000 2,60,000
& 3,00,000 o
; Nses Paid o o < 75,000 1,50,000
ﬁﬂﬂﬁss nreﬂﬂﬂ“&%t\ﬂ 20,000 -
- PT 1,00,000 2,00,000
20,000 50,000
20,00,000 Full
25,000 —_—
16,00,000 Full
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Paper / Subject Code: 11105/ Financial Accounting & Auditing : Paper IX C,g&j q'

The plant is subject to annual depreciation @25% ufﬂngmalcost :it was d'ecided %
that profit to be taken credit for should be that portion uflhe esgmatgd net profﬁtj to. ber-
realized on completion of the contract which the certifi e '{aTue_oCt‘w ﬂg-as’ n 31"' Viare '
2017 bears to the total contract price. .":w‘ s QT

Prepare contract account for the year end,gﬂ Qlﬂﬁarch, _Zalzﬂaﬁg\ﬂ;ew your . --‘if"'
calculation of profit to be credited to the Profit &*L"s Ebo:.mt for 1hé<?ea’r @nded 31St ;
March, 2017. ' =

3. Kiran Constructions Ltd. has undertaken two® cénfraqs viz {\lo, Land Nqa?\ ! 15
particulars are available for the year ended 3 1‘3Marﬁh gm;f > ¢ AT

Particulars e o
Material Purchased e
Wages

Electrical Services
Road making charges

o000 ,,'\6‘00000
3 ‘-“ _.\"‘ .:“;ﬁST)OU _~ E‘:'x ‘12 000
2:4,40,000 | 5 Nil

Contract Price (i c!uswe ofﬂqad mkihgj DL E30,00000] L '30,00,000
M o ”‘ < £30,00,000 | -~ 15,00,000

1,25,000

15,000

75,000

LS 25,000

Value ofmafenahnhanctbn - -7 20,000 27,000
Valueefman'%med cﬂ'bsltes\ 4 2.~ 6,00,000 3,00,000
Period ofﬂ‘{amt ]‘,ﬁ!mar year 10 8

(Month)> M G
& ‘*‘I‘}ie ’&)ta!\ dm:msfratwe ex“penses hel red during the current accounting year
%@qgn{“éd‘to‘%‘ﬁ;u OOD\Ihese are tb.&z Eharze the two contracts in proportion to
ggs’“@“gprécétrbn ntPla ntis to be taken stthe fa 5% p.a.

; c}ntr tacz;bu‘i’i!fs showing the gfofit or loss on each contract for

. ['hlch'-_ Yo@'conmdered appropriately transferable to the
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Following are the balances in
2016 :

s

-..‘ ‘-\“\ ]
Particulars ng'l{ 1hs (%) !
Stores Ledger Control A/c DS D,; =
_Work-in-progress Ledger Control A/c : (A??.Q};,:&,UQO\
Finished Stock Ledger Control A/c T8 59,000 ]
Cost Ledger Control Alc

Transaction for the year ended 31-03
Materials purchased
Materials issued to as :

Direct Materials

Indirect Materra[é
Wages paid allocated%v

1,08,000
12,000
1,80,000

‘ 8
%a fo
_'s‘ }I Cost of Sales
f f\ J.;ﬁim?ts &in T if selling price is reduced by 10%
s 365 ¥ 60,000
3 8,000
Saies T 40,000
T 2,000
T 40 per unit
TURN OVER
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Actual material used 9400 4
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Calculate Material Usage Var
ce and Labour Effi

Standard rate ¥ 50 per hour
Actual production 1600 units
Actual hours 19800 hours
Actual rate T 45 per hour

Standard hours per 100 uni
Material

Standard for 10 units of p

Actual production
Actual rate ¥ 19.50

From the following,
Labour Rate Varian

Labour

What are the features

a)

b)

B
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